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INTRODUCTION

The PSAC Grade 6 Marathi Question Paper comprises of nine questions and is prepared
judiciously keeping in mind the mixed abilities and capabilities of the candidates. The assessment
objectives are in line with the goals and objectives of the National Curriculum Framework (NCF)

for primary education.

The assessment of Marathi focuses mainly on the three language competencies;

e Reading comprehension 40%
e Grammar and vocabulary 30%
e Writing 30%

The total percentage pass in Marathi is 78.53%, showing a gradual increase in the overall
performance for Marathi Language.

This report is mainly addressed to teachers and aims at helping teachers to improve in the teaching
and learning process. The fundamental objective of this report is to assist and support students in
improving their reading and writing skills, while focussing on the weaknesses noted. Teachers
will have a broader perspective of the objectives of the questions that are set and hence, instruct
candidates accordingly. The report should help teachers analyse the strengths and weaknesses of
the students as well as consider possible methods and ways of enhancing the students’
performances in the forthcoming years.

In general, many students have shown their acquired skills in reading and writing. However, a
minority of candidates found it difficult to attain the minimum grade to pass. A remarkable number
of candidates performed well on the basic and intermediate tasks across the competencies assessed.
In reading comprehension, candidates were able to collect explicit information from texts, whereas
in higher order reading skills, they had some difficulties in making inferences. For the writing
sections, most candidates were able to write simple syntactically correct sentences but some
candidates tried hard with the correct structure of sentences and the use of appropriate grammar

and vocabulary.



QUESTION 14

In this question, candidates are required to recognise the given pictures and write the name of the
object appropriately. Six pictures are given to the candidates along with one example which was
‘car’. This item tests knowledge of basic vocabulary words. The pictures of monkey, ear, cup,
window and cupboard were given. 1 mark is allocated for each correct answer.

For the word ‘monkey’ — QIS Some candidates have been able to write it correctly. Others

have written “dFX°, ‘SR’ and some have given the following wrong answers — ‘I,
ARAD, “ATE, AR, FET, HELS.

For the word ‘ear’ — “@IF, Candidates have also written ‘3[qIq ’, ‘Qﬁ’, ‘Q'Eﬁﬁ".
Instead of writing ‘BT for ‘cup’, some candidates wrote “gar, ‘uT.

Instead of writing, ‘window’ — ‘m’, candidates wrote ‘IR, ‘W@f’, “GRATSIT. Some
have wrongly written as ‘Ree@Y’, ‘T@l’, ‘fredl’, ‘wivwEt’, fehrew.

For the word ‘cupboard’ — “HUTS’. Some candidates have written “@UTeId’, or even, wrongly
written as “@UTd’, “HIUTS .

QUESTION 18

This question is a matching exercise whereby 6 pictures are given, and candidates have to match
the pictures with the given sentences. One example is given. 1 mark is allocated for each good
answer. Most of the candidates have been able to do the proper matching. Those who cannot read

with understanding, have had difficulty in working out the question.

QUESTION 24

This question assesses a range of grammatical structures through multiple choice items. The
grammatical items tested the use of tenses (past tense, future tense), prepositions, conjunction,
pronouns, adjectives, etc. 1 mark is given for each good answer. The sentences were simple ones,
but still, some candidates faced difficulty in working out this question. A few students have scored

10 marks.



The following items were found to be challenging:

ltem 5: 3TTAT SHUTETd S Sad.

This sentence was a simple one and the answer was very straightforward. Yet, many students have

chosen ‘3T’ and * 3T=(=IT.

Item 6: T ST AT RIS UTE o Bl

Many students have chosen ‘grfeeT’ and “dTfeet .

Hence, upon analysis, more emphasis should be laid on such grammar exercises.

QUESTION 2B

This question is also a multiple-choice exercise, where contextual vocabulary is being tested. 1

mark is allocated for each correct answer. Many candidates have given the following answers:

Item 1 — HATTRHTA/ STFIRTA instead of TTFUTRERTA

Item 2 — most of the candidates gave the answer ‘Eﬁq'PIIFIT’.

Item 3 — BT / U instead ofGlfﬁ

Item 4 — ST / \QOhdﬁlcd instead of TYT

Item 5 — most of the candidates gave the answer ‘TEa’.

QUESTION 3

A letter was given to the candidates, and they had to read and locate the appropriate information
in order to answer the questions. The letter was about how a girl is spending her holidays in Dubai.
Most of the candidates have been able to score the maximum marks. Only some candidates had
difficulties in answering item 5 only. The remaining questions were within the reach of the
candidates. Good interpretation and identification of the basic information in the text have been
made. Candidates have written a variety of answers for the following items:



Item 1: Sfetrerr/ ‘x’ﬂT*IT/Th'JQﬂ?IT/ ﬁEﬂ'UT/ PRIEIREILI

Iltem 2: &I STAGUIATHIS!/ A1 HeaT gasd ATsit eI wrerdq e,/ < fordt gt
HTeTad 318,/ BRI ST 318,/ < L TTelad 3MMe. / PRIT ga8 AT Yax AeR
3. / et ga8 a1, / faerm o sma=.

Item 4: PIRUT G 37T Fax TR 378,/ AT YR e / Yob Fax e 308,/
qaS J7CTeR Yex e 378 UL Hell o JATasd.

Item 6: i. T SRRIST UGN ST, / USRI ST/ TOram Sesfhar) e o1e. /

oraT =<9 uIEreT 9.

ii. To T geehos Ral heil. / <l gehos WRE! . / <t S[ARAT AT Fsl bR
9./ T 9 @Rl dedl. / T Yo Gar o T e,

The overall performance was satisfactory. Most candidates were able to show that the basic reading
skill with literal understanding has been acquired. Most items were answered by candidates. The
questions were simple, and candidates were able to understand and locate the answers without
much difficulty.

QUESTION 44

The main focus of this question is to assess the candidates’ comprehension at an intermediate level
and also their ability to locate certain information in the passage. The overall performance for this
exercise was satisfactory. The candidates have acquired some basic reading skills and they were
able to read and spot the answers from the passage and selected the correct options.

Most of the candidates have answered all items correctly. Yet, there were a few who could not
attempt any of the multiple choice. Students should be guided on how to locate and select the right
answers.

QUESTION 4B

This question also tests reading but at an extended level. Only a few candidates have been able to
answer all questions correctly. Those candidates who could read and understand have tried their
best to answer the questions. Some candidates could not put the sentences in order according to
the sequence of the passage.



Item 1: Candidates wrote ‘fli?‘lgj’ instead of ‘TTSITAT or simply lifted answers from the

passage.

Item 2: Candidates wrote “HT instead of “SITSIT’. Some candidates answered ‘3TI'§’ instead of

‘ST, without trying to locate the correct answer.

Item 3: Candidates answered with a variety of answers.

YUl ©RIT ©T9T g1 AT BT degl FaiT BrefaRl a1 16l § hodel./ 0T
I AT BT, / 3 ThoT Su<sdra i+t -ITd stidhel. / TdoIvT BRTd RRAT.
/ ST o 'R RBR. / BRI =7or 91 A BT, / BRI RRAr.

Item 4 & Item 5: In some cases, candidates lifted whole sentences from the passage to answer.
Due to lack of precision in their answers, it was difficult to make out whether they were able to
read with understanding. Therefore, it was difficult for examiners to reward such answers.

Item 6 & Item 7: Candidates have been able to answer these questions correctly.

It has also been noted that a few students have not attempted any question at all. Candidates should
be encouraged to read the comprehension with basic understanding and locate the right answers.

QUESTION 54

This question was based on re-arranging jumbled word to form proper syntax. In this question,

candidates are requested to re-arrange the given words to make meaningful sentences. 2 marks are

given for each sentence. Most of the students have been able to attempt this question.

ltem 1 = HIFTRAT ERTYS Yo Fax PolaT TR, / HIFTeAT Fax BRIYS Yeb HoldT ATe.

Some incorrect sentences:
%, HIAT=AT BeASIT U Y uug% AR,

o haN . .
R. HHFTAT 896 Tsh H&l BeAsTT (incomplete sentence)



Item 2 — AT HATTERIGR s BRI TR el / FsfbTRT 41 el AraeiiaRier
Tl / FafhaRI AT ATgeiieRIaR ORI el / # AsibTRI TR ATaeiieriar
el / HY ATGeiERIER Rl FqafbTRT Tell. / @Y FgafbTRT Araeieria] e
e, / HATaERIER | FsihTRT e e,

Some incorrect sentences:

B e R SR SR IR CNIC T
R. TSRS FHEfRTRY #Y Tt frre.

Some candidates committed mistakes, and some even missed words while recopying the words.
More practice should be given on such types of exercises and special attention and focus should
be given on correct sentence structure.

QUESTION 5B

Knowledge of syntax was assessed through a sentence completion task. In this question, candidates
are given the start of the sentences and they are required to complete them on their own. Many
candidates have made the effort to complete the sentences but there were many grammatical

mistakes. Some did not use the appropriate words and even pronouns for ‘TSI and ‘31\?[\’.

Some did not conjugate the verbs in the correct tenses. A few candidates have not attempted this
question at all.

Examples:

Iltem 1

SITSIET STSTRY TR FEU[A o STFEXDBS et /TSI JATSTRY AT FU[A o 3iTHe BT,
ST 39 IS Bdre. /| o IRM srard. /| gRucadr S, / O Sideas
ST, /O U Wil shuard. / O UeHIaR SNUdTd. / SISl 3TRTH hRdd.

| | BHATSAT ST ATEN. /O SO Tet ST,/ gu o, / € i T S erarer
EGIGH



Item 2

STeaT 3TTFE! BT el IesT |l SIUTy 3T TS gcfel. / ST GaT Habal. / el
ST Hdol. / 36T SIad! uTgdl. / Sl Ier fudl, / 3! Hedhed Woadl. / et
TEUTS Hell. / ¥ 31Teles el / S AT Fal faar. / garyant it efl. /
HIGN AT BIF Bedl. / 38T 3TEis Rl / HI ST USel/UsSal. / Il IRT
TRH ST YT, / el T4 dxal. / H1 Yo AR utedr. / et TR T8 fuar. / e
heh GTUTR BI<IT. / TTaT UTeg oo, / T =reT fUd. / 3t TSRt usar. / At

Ui TTaR STATIAT T, / STl 7T TIIseT hal.

Item 3

BT 3] TTdel Tedt Tegell HRUT forell s gred Aegd. / <Y SITSTRT 3M18./ TSR 378,
/ < ST @S el / < AT USell 8T, / o Y& f7ors fa@d . / <t siremr
Bl / <Y ATSTRT USedl. / 35 TSR USell. / g Bi T8l

Some incorrect sentences:
. STTSIIST TSR HATed FEUT TS ferell HA1we .
3. ATSIE S SATRd FeUH T U134 WeadTd.
3. TSI ST ST FEUH d SRS BT,
¥, STogT ST SR TGl ciogT ST STHTaT S,
b, SegT TR B Tl e AT =i et & el e,
&
©

. I SIS] RMTe3d Tt Fogd HOT fiedT aTd 2.
. I SIS] MM Tt Toge 10T TS I e,

QUESTION 6

This question tests reading and the use of language through cloze text exercise. The candidates
are expected to read the text then choose the correct answers from the given words and fill in the
given spaces. A few candidates have understood the passage and have scored 10 marks. But many
candidates have scored only few marks. Only a few have committed mistakes while copying the
given words.



Many candidates have misplaced the word ‘Teha” in the text. It seems that they did not grasp the

meaning of this word in the context of this extract. Also, many candidates got confused with three
verbs given to them: “ATdAT’, “UTad’ and TTd’. Some candidates did not understand the meaning

of “e¥T". They mistook it as a pronoun instead of ‘that’. Some have interchanged the words “TTTd’

and Y.

Overall, some candidates did not get the gist of the passage and hence, they faced difficulty to
complete the text with the appropriate words.

QUESTION 74&

In this exercise, there is one wrong word given in each sentence. Candidates should write the
correct word in the space provided. Some candidates have been able to give the right answers, but
many candidates have written the words wrongly.

They have given the following answers:

Item 1 — HTSY, ATSAT instead of HTET
ltem 2 — UHA, UHATAT instead of T

Item 3 —ﬁlﬂ%‘, e instead of fUereaT
ltem 4 — ATS(ETH, TS(ATHT, AT, ATSETH instead of TG [STH

Item 5 — UTH, U instead of TOTT

QUESTION 7B

Transformation of words — the candidates have to transform the words into nouns, adjectives or
adverbs. Some candidates could write the correct answers while some candidates scored zero
marks.

They have written the following answers:

Item 1 —Tﬁ‘, W, Tl?ﬁ‘, TTOTT instead of TTUT
9 9 9 9 9

Item 2 —Fﬂ% instead of GTSAT



Item 3 — TUeReY, fueRereT, fUreReetT instead of fUeReter
Item 4 —3%, Sé?ﬂ, Sﬁﬁlﬁ instead ofgé'clﬁ
Item 5 —31136'@‘, 31136'@‘, 31T instead of SATSIIT

QUESTION 8

This question comprises of 5 pictures, with words given as a guidance and set in a sequenced
manner to make up a coherent short story. Candidates are required to use simple cohesive devices
or conjunctions to write 5 consecutive sentences, which must be linked together with the given
words.

Most of the students have written good and interesting sentences. In certain cases, they have shown
their good mastery of the language, but others have wrongly written the sentences with spelling
and grammatical mistakes. The words given were very common and familiar to candidates but
still, a few of them could not write appropriate sentences. Some candidates left this exercise
unanswered.

Students must be taught to write grammatically correct sentences using appropriate vocabulary.
Therefore, more emphasis should be laid on such type of exercise and sentence writing.

Examples of some good sentences (for each pair of words):

¢. Uk feasft — gime wTaor

o U feasft U Uk T8 TS AT,

Toh feaeft TS Ueh 9181 1S SIHid ATerdl,

e feaeft 9T 3ITe e,

o feaeft Tsitaq Tk =1e Are,

e faaeft U=t A gre .

o faaeft e U 37 91 9Ihid oradl.

U feaeft U9 STTIeT ST Ueh 3TE SATeral.
ok feasfl T I1eT Uk STisAT= TS AT,

10



3. T faasft — uruft "reror

o X fearsft v grreTet uroft wterdr./ <X fareft av st uToft serar,
o X fasft a T uToft TrretdTa. / €€ feareft av e utoft srretar.
o X fearft v uToft SrTera,

o X fearfl T SATSTeR UToft STetal.

o T faasft t gt UToft T,

o X feaft at wHA ST UTUft TTe.

o X feasft O FreTE UToft TretdTa.

3. HE TR - Bd

o HIE! IV HTSTIH 31k fUshcted! Hed TR

o TR AL ST 3T Y& Yol Hed 3T

o THIE TN TSI 3T-eh THod TR,

o HIE INI-HT FATSTAR AT 3Tk Hod T,

o HIE ANHAT HATSTI G hos HeaTe.

o HIE AN HATSTA Y Aol AT,

o I AN TS HIS FATeT VT SATSTEN Hes 3T
o HTE! IV TSI 3Tk THISS Fed 3T

¥. HhefiReT — Teor
o HelieRell TS FATST =g A dredl.

NN N

o HElieRell THT YT TS Tl o Ted dredl.
o Fefiohelt UH STSTaR Tl

o TEfieneft UST TSI T STTIUT 377 el

o HelTeRelt TST= T HATSTa =real.

o FHIREl] TS 9 AT F_10T TS F_dld.

o Heliehell TR UST AT =G SATel Biell,
o HelTehell TSI TSI =/ o aredl.

11



L. GUIRHT -

o T RHI TR TV HTFe] ATSTETAT S,

o TIAWH G THT TR T d HISRATSA! SET 3Aisl WA

o AT FATSTETA! GU TLHT STed.

o T HTSTETC SHAT HRUT GY THT TR,

o Siog] GU TRHT 316 deel dl FISRaTel! %ed W,

o T HI TR SATVT ST HTSTETEAT Sl

o T RH! FEATHS TSHE I T Fgdl TeH! AT SEdTa.

o STH I ST @Y THT AT, TS ATV T Fidol ATSRATAT ST el GITa.

Some incorrect sentences:
8. T fearsft 31err Uah 9T AT,
3. U feasft arer oire A AR,
3. o feasht o gremT oft STerdTd.
¥. e feasft ar e uoft sde.
U, THTET AT Tk HIST B TS ST
§. ShIel aNI-dL Hl Fos TR
v, wefiereft ot e =
¢. iR 7ol hed Tedrd.
R. Sheftehelt U7 i Tl
3 0 A G TRHT TS 3T,
{28 9TS gY T IR
. SIS 3ATE QU TCHT FTS AT,
% 3.0 TRHT, T AT 3ATel Wi,

QUESTION 9

Essay writing consists of demonstrating the ability to write a coherent piece of continuous writing.
This was done through a guided composition (canvas). Candidates were expected to write an essay
of about 100 words. Only few candidates have been able to write their essays correctly with good
fluency and an adequate use of good vocabulary and expressions. On the other hand, some students
committed many grammatical and spelling mistakes.

12



Some wrote very simple sentences with noticeable errors as they could not elaborate and develop
the ideas given in the canvas. A minority of candidates did not write anything, or they had copied
the canvas as it was. Some of them had written a long essay with irrelevant description at the
beginning of the composition. Pupils must be encouraged at class level to attempt this type of task.

Sample of essays:

e.

AT HIHATL HTe. TAHM B TS I SRR T HTe, T G2 318 7Vl a1
M= STARIT WeAdTd. Ht HTeT e FTerarell Staor B,

TEHITEhT STTFET Teh &Y STTH=AT aTd R oredl. dt fRrerent=ft fowre =i st o
ST eaal. HT o HTSH SIed TS] NI TISTART LT, WIS HaAlor oAt eraret reftere
B . HY S TS @U e Graal FeUT TR I Jehel.

FEN ABHA I M= ARG REAT 9 TR 9ohed orre fear.
TRrferenTett sTTaeft forRrelt <d. oY EU STe AT T HaT TR AHd. H o A1 o g
ST 3TTRNGT.

Ht TRt 33, TS TS arerar HF A1for aveft for sirestet Strar. At sedat are
ST, TR ABTHAX TR It TR, SToaT SATFRT STid STTdT dogT TR Ueh T
foHar. =R Uk 01 2IUEt TR, TUGSTa 3T TTHTH TR, I3 T HiTestardT | ST
TS HEOT AT RIaTeRTeT STeTer. |6l qol FeuITet, “<I AR " el ol STH=T
TETEST sllcTd STTTd. HTgT R1e7eh qieiEe %I !, el St qefe Al 3

AT YA, X T Hed SIS SIS,

TS HIHTR 3T, T e AT e SATe. TUHT e, el ATSTed e & Jod
I T ShRor weel GEi= o 3. Teh aR fSshiqd IIiduul AH=a1 aiTid
Iy, wrer o 3 ) oot fovermETdt sTH=aT Sl SveTe StEdl. Uehiush! 3T
RIAT UTEal, ) TrerRkeerd Brar. af =) Astrad=! fusrelt =i oa grar. Arer fis
AT ARSI Teiel! BT FiTal. HEAEs daeht AdTd. TR ThHeuaHIa]
HTFE! HEATTES T Had shicll. Wi &S TR BIF SLdTd. 9 refiet Hhet

13



A3 TR Thgd JIeie T ST, AR TS HAHe HWR AFAT. d

TR <= fUsrelt ot <dra. o ot fusreft == qiehemed et gid. ga=n
feerft qeTest sTTreTer U sRfter 3.

ST TS TR HIS-TET 2l

TS FIHAR 3T, TAHH B TS ST SThTT Ry 3T1e. T SR wHed 37TR.
HFHISET HTS T STSTAT TR, HY AT fsieie AHeM IS STal. a9 NaieedTa)
TR S FMMes=AT HTTRIT GBI Y& shLal. THITh! STFETT Toh HIVH AT
T FRICIAT ATel. | /IO ek =L ST, 1 STl = sl o et H A7 /et
it ST STl o g TSI er=a foreel sierdl. o Teeh et qiedel BT
FATd. 22T fHfia=at Tifera Smesd TiRal. W™ =TT T, e SIS IS

;\l(‘llda'*-lﬁ'il qUdldlq ®I\|Q’1(‘II<'I a'd*ll(‘ll?lgflglcﬂ S 3:“%

T afe-ATdier are TR TR o YR [God BT, 3 HeodT SRR THehd TR,
JTAT Stk TS FTSTaT AT o AT o fesi Broft & wt st sfa oar ara e
=T AT TS, Tar & T4 371,

T T, G, =T ST Ht Te HieT STaT UewRdl. dar Regefiq st ared &
STTFETCAT T Sl STe Toh =R TR, AT i aed. ST ariae SiTal o STiaaor
ST T, =L Tia IRt o <) Shal. HHT STTH=AT fR18TehTalT 8ok AR Sid o
T T ITTH=AT AIETRT IATd o 90T S HEdTd. 7T, F = SR YehadTd.
T 3181 HAT |ITATa ol #f T i S elTee B #Xd o d ol e

SIHERIG

ALY, TeAE AT JeiTe ST T

TS GG 3T o Yol fead 3R, TAHM B B SR Yehles=] dad TR,

e fos o Tt STid R RLAl, S TSIt STl Ee EISR M= el ST OIJI?CIQ\-l

o

AT ST, Aret s 7 ) el wedl. el fitamat STl S| S,
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e for 1 ot wrereig weadt. el fifidrar sl aoft [umendl snTi ST, TehTeh!
HTFETAT Toh AR ST ST (SHal. =T BTaTd STTHAT [RT8TehT=l GHL 3T qai=!
T 3ATeq. WTe i IR ST e H JErTEST €9 St |, 96 0 et d
NIAGHT BT FAT. HTE ASHR IR G Rl IMSar Idrd. @ IR
TR, <ok HTgl Tt SATIOT Ht = TR WA e <Te] .

HTS AT foqd g B TR, U160 SR 1Sl RV HEAgEr ded 3ATe.
Gad Ueh = MTebdl el < ST A, at i = <htall. A3 ot o = ol
ST SATFRT =R e, HIT TR e HTeld JeTesiohs SITal. STl carel 9 M
HIET AL TIAE RTesd AT, 1 ARTAT Toheal. I T FHE Tdal. Teaes
HTHZYT HATH HIAAT.

ST AR TR, A B 3R, 3T Hl et 33d. 1l =TeRY B, 3713 Jretar ol
ITSTAT ST, IMMes TR ISTCATHAHT ST AT Tt ITet Wesd TR, e G SR T
TRRTa. SrTia 7 e SH TS, el HeAto SHUGT Ure 3R, AR AR hLar. Ht
3TfoT HrEAn fat 3TeM atiqe Sar. ot #Y SA1fer arger fisi = gredt, Jaw
HTFE! YEATESI=T SHTHET STl SATI0 e el FTdl. JEATEs = Tt BT
AT, e T AT YhSdTd.

TS AR TR, AT o IeTe3T TR, T SATHRIT THhe ATe. Wi wgrefi=i gorit
TR, UST HT ATeSeAT ST, SATST Teh =T ST ¥R, =X =T shaar, |y for qre fsrit

AT ITEA. T A STFETAT ITed ATRL. = ATl TSt THSH ST, ST 71 el i

firsr i1, @ Teel TMMesedT T, 37T {18 ST6l] Ueh i1 31 AT U7 ek = 37TR,
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R HY SIS BIHEL Wi .7 ST ST G A AT, ST STl JehRdrd.

ST I ST, 77 o718, Tt ot fRTeRardra. Tiadt Hi @re 9t =i STHe =i ST,

%0, IS WA TR, TATHIVT 1 T el HEHTT We3dTd. THTUeh! Teh SR i (YR,
<R HTST S AR HATd. Fad Y o wreft fosi= =T uredt. =R Weddrd. i o Hrgan
Tt = WedTd. X Arga it Tt =T Tl fRRdTd. JTea TSt qiefter %

§2. TSI HHAR 3ATE. HTHIT Yol =HA SATe. el A I, = e FRRTd. T A=
Ll reT SATIOT JH=AT TRt =R OTedTe. X qHet STor qrer i st Feurmett
3T, T TS 1 2.

§3. IS AHAR HTe. AR i RIET. =T =R Fard. qrer 107 wrga ot =
aTEdTd. dt <X i SAfoT mrgar firsr R, et ST T TR, AT ST IR,

Conclusion

Teachers are required to consolidate areas which are problematic. This can be done through the
use of different innovative strategies and approaches which will be helpful and will encourage
learning to take place in a pleasurable environment.

Recommendations

The following are some recommendations which can help to ease and improve the teaching of
Marathi as a third language to students in primary schools:

1. Teachers should use new technological tools such as Tablets, laptops and mobiles in class to
make the class lively and involve the students in different activities and attract their attention. They
should create a better learning environment in classrooms by making use of interactive strategies.

2. More attention should be focused on vocabulary, grammar and the application of sentence
structing in sentence writing.
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3. All the skills should be developed fully while conducting the class. Students should be
motivated to develop their listening and speaking skills by communicating in Marathi. Emphasis
must be laid on practice of communication skills in class and amongst peers.

4. Teachers are requested to pay more attention to composition writing and initiate pupils to use
effective adverbs and expressions in their compositions.
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